
Ndslwho 5

Vroydwlvlhuwh Hohnwurqhq/

vroydwlvlhuwh Lrqhq/ Vwdqg ghu

Iruvfkxqj

Vroydwlvlhuwh Hohnwurqhq xqg Lrqhq vrzlh ghu Vroydwdwlrqvsur}h� zhughq ehuhlwv vhlw

ylhohq Mdkuhq lq yhuvfklhghqhq Duehlwvjuxsshq lqwhqvly huiruvfkw1 Klvwrulvfk ehjdqqhq

glh Xqwhuvxfkxqjhq ghu Vroydwdwlrq lq ghu Ioÿvvljnhlw1 Glhvhu Ehuhlfk lvw h{shulphqwhoo

ohlfkwhu }xjçqjolfk/ klhu zxugh elvodqj glh Phku}dko ghu Hujheqlvvh hu}lhow1 Ndslwho

514 olhihuw hlqhq ßehueolfn dxi ghp Iruvfkxqjvjhelhw ghu vroydwlvlhuwhq Hohnwurqhq lq

sroduhu Oùvxqj/ vsh}lhoo lq Zdvvhu xqg Dpprqldn1 Hlq nrpsohphqwçuhu ]xjdqj }xp

Yhuvwçqgqlv ghu Vroydwdwlrq xqg Vroydwdwlrqvsur}hvvhq huirojw gxufk glh plnurvnrslvfkh

Vhlwh1 Klhu yhuvxfkw pdq dqkdqg yrq Vroydwdwlrqvh�hnwhq ghq vwxihqzhlvhq ßehujdqj

ghu Jdvskdvh lq glh Skdvh nrqghqvlhuwhu Pdwhulh }x ehredfkwhq1 Gd}x zhughq glh

Hljhqvfkdiwhq ghu Foxvwhu lq Dekçqjljnhlw lkuhu Juù�h ehredfkwhw xqg lqwhusuhwlhuw

+Nds1 515,1 Xqwhu glhvhp Jhvlfkwvsxqnw zhughq lq Ndslwho 51514 Vroydwdwlrqvh�hnwh

yrq ßehuvfkx�hohnwurqhq lq +K2R,?0 xqg +QK�,?0Foxvwhuq jh}hljw1 Ndslwho 51516 jhkw

dxi Hujheqlvvh }x Xqwhuvxfkxqjhq dq Qd+K2R,?0 xqg Qd+QK�,?0Foxvwhuq hlq/ glh glh

Juxqgodjh glhvhu Duehlw gduvwhoohq1 Hv zhughq glh vshnwurvnrslvfkhq Hujheqlvvh xqg

ghu Hunhqqwqlvvwdqg eh}ÿjolfk g|qdplvfkhu Sur}hvvh lq nohlqhq Foxvwhuq jh}hljw/ zlh

vlh }x Ehjlqq glhvhu Duehlw ehvwdqg1

4:
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514 Vroydwlvlhuwh Hohnwurqhq lq ghu Oùvxqj

Vhlw Z1 Zh|o ^Zh|97` lvw doojhphlq glh wlhieodxh Içuexqj yrq Qdwulxp0Dpprqldn0

Oùvxqjhq ehndqqw1 Huvw ylhoh Mdkuh vsçwhu zxugh gxufk F1D1 Nudxv ^Nud3;/ Nud64`

glh Olfkwdevruswlrq ghp vroydwlvlhuwhq Hohnwurq }xjhrugqhw1 Gdehl zxugh srvwxolhuw/

gd� vlfk gdv Qdwulxp0Ydohq}hohnwurq yrp Uxpsi wuhqqw xqg lq hlqhp Krkoudxp lq0

qhukdoe ghu sroduhq Ioÿvvljnhlwvprohnÿoh jhexqghq zlug1 Ehvwçwljw zxugh glhvh Dxv0

vdjh gxufk dxviÿkuolfkh vshnwurvnrslvfkh Xqwhuvxfkxqjhq yrq U1N1 Txlqq xqg M1M1

Odjrzlvnl ^TO9<`1 Vlh ehredfkwhwhq hlqh whpshudwxudekçqjljh Yhuvfklhexqj ghv De0

vruswlrqvvshnwuxpv/ mhgrfk nhlqh Çqghuxqj ehl ghu Zdko yrq Ndolxp/ dov }x oùvhqghv

Dondolphwdoo1

Lp Jhjhqvdw} }x vroydwlvlhuwhq Hohnwurqhq lq Dpprqldn/ glh hlqh Ohehqvgdxhu

ÿehu phkuhuh Wdjh dxizhlvhq/ ehwuçjw glh Ohehqvgdxhu vroydwlvlhuwhu Hohnwurqhq lq

Zdvvhu zhqljhu dov 4 >v1 Dxijuxqg glhvhu jhulqjhq Vwdelolwçw zlug }xu Hu}hxjxqj

xqg Xqwhuvxfkxqj ghu vroydwlvlhuwhq Hohnwurqhq glh Lpsxovudglro|vh +Ehvfkx� yrq gh0

vwloolhuwhp Zdvvhu plw vfkqhoohq Hohnwurqhq, yhuzhqghw1 Gdplw lvw hv H1M1 Kduw xqg

M1Z1 Erdj ^KE95` huvwpdov jhoxqjhq/ k|gudwlvlhuwh Hohnwurqhq }x hu}hxjhq xqg glh

Devruswlrqvedqgh ghv vroydwlvlhuwhq Hohnwurqv }x yhuphvvhq1 Dxv qdfkirojhqghq Xq0

whuvxfkxqjhq hujde vlfk dxfk lq glhvhp Idoo hlqh Yhuvfklhexqj ghu Devruswlrqvedqgh

plw }xqhkphqghu Whpshudwxu lq ghq odqjzhooljhq Vshnwudoehuhlfk1

Hv irojwhq zhlwhuh Vwxglhq }x ghq xqwhuvfklhgolfkhq Hljhqvfkdiwhq vroydwlvlhuwhu

Hohnwurqhq/ zlh ghu Udxpehgdui ghv Hohnwurqv rghu vhlqh pdjqhwlvfkhq xqg hohnwul0

vfkhq Hljhqvfkdiwhq1 Hlqhq xpidqjuhlfkhq ßehueolfn olhihuw M1F1 Wkrpsvrq ^Wkr:9`1

Huvwh wkhruhwlvfkh Prghooh }x vroydwlvlhuwhq Hohnwurqhq zxughq yrq U1D1 Rjj

^Rjj79`/ zhqljh Mdkuh vsçwhu yrq M1 Mruwqhu ^Mru8</ Mru95` hqwzlfnhow1 Ehl glhvhq

Uhfkqxqjhq zlug gdyrq dxvjhjdqjhq/ gd� vlfk gdv Hohnwurq yrp Lrqhquxpsi ghv Ph0

wdoodwrpv wuhqqw1 Dxijuxqg ghu Odgxqj ghv Hohnwurqv zlug glh Xpjhexqj srodulvlhuw

xqg hv eloghw vlfk hlq Krkoudxp/ lq ghp hv orndolvlhuw lvw1 Zhlwhujhkhqgh Prghooh

ehuÿfnvlfkwljhq }xghp dwwudnwlyh xqg uhsxovlyh Zhfkvhozlunxqjhq lq ghu gluhnwhq Qç0

kh ghv Hohnwurqv vrzlh zhlwhuuhlfkhqgh Srodulvdwlrqvnuçiwh ^FNM:3`1 Glh ehredfkwh0

whq Devruswlrqvvshnwuhq zhughq plw hlqhp lp ]hqwudosrwhqwldo jhidqjhqhq Hohnwurq

ehvfkulhehq/ zhofkhv hlqhq �r $ 2R ßehujdqj yroo}lhkw1 Hv hujlew vlfk hlqh vwdeloh
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Nrq�jxudwlrq/ zhqq 7 Dpprqldn0Prohnÿoh gdv Hohnwurq xpjhehq/ zrplw hlqh Vroydw0

dwlrqvvfkdoh jhvfkorvvhq lvw1 Glh jhphvvhqh Urwyhuvfklhexqj ehl Whpshudwxuhukùkxqj

hunoçuw vlfk gxufk yhuvwçunwh wkhuplvfkh Ehzhjxqj ghu Vroydwprohnÿoh xqg hlqhu gdplw

yhunqÿsiwhq Yhuulqjhuxqj ghu Dquhjxqjvhqhujlh ghv Hohnwurqv1

Plw ghu Hqwzlfnoxqj ghu Xowudnxu}sxov0Odvhu zxughq dxfk Phvvxqjhq }xu }hlwol0

fkhq Hqwzlfnoxqj ghv Devruswlrqvvshnwuxpv gxufkjhiÿkuw1 Vr ehredfkwhwhq Pljqxv

hw do1 ^PJP;:`/ gd� glh K|gudwlrq yrq Zdvvhu lq plqghvwhqv 5 Vfkulwwhq deoçxiw/ hlqh

wudqvlhqwh Devruswlrq lp lqiudurwhq Vshnwudoehuhlfk plw hlqhu ]hlwnrqvwdqwhq yrq fd1

533 iv/ glh lqqhukdoe yrq 5 sv lq glh vwdwlrqçuh/ fkdudnwhulvwlvfkh Devruswlrqvedqgh

ÿehujhkw1 K1 Ox hw do1 ^OOH<3` ehvwlppwhq glh Irupdwlrqv}hlw hlqhv ßehujdqjv}xvwdq0

ghv }xp vroydwlvlhuwhq Hohnwurq plw 4;3+73, iv1 Ghq ßehujdqj lq ghq vroydwlvlhuwhq

]xvwdqg ehvwlppwhq vlh plw 873+73, iv1 Zhlwhuh Duehlwhq dxi ghp Jhelhw g|qdplvfkhu

Sur}hvvh vroydwlvlhuwhu Hohnwurqhq lq yhuvfklhghqhq Oùvxqjhq zhughq }1E1 yrq S1I1 Edu0

edud ^VE<9` rghu dxfk yrq D1 Odxehuhdx ^DOO<;` gxufkjhiÿkuw/ zrehl lq ghq phlvwhq

Içoohq wudqvlhqwh Devruswlrqvvshnwuhq yhuphvvhq zhughq1

515 Vroydwdwlrq lq Foxvwhuq

51514 Vroydwdwlrqvh�hnwh yrq Hohnwurqhq lq +K5R,q0 xqg +QK6,q0

Foxvwhuq

Glh Hu}hxjxqj vroydwlvlhuwhu Hohnwurqhq lq Foxvwhuq nrqqwh huvw plw ghu Hqwzlfnoxqj

yrq Prohnxoduvwudko Dssdudwxuhq yhuzlunolfkw zhughq1 Qhjdwly jhodghqh Zdvvhu0 xqg

Dpprqldn0Foxvwhu zxughq huvwpdov yrq K1 Kdehuodqg hw do1 ^KVZ;7/ KOV;7` hu}hxjw1

Hv jhodqj lkqhq +K2R,3? 0Foxvwhu de hlqhu Juù�h yrq ? � ��/ +QK�,3? 0Foxvwhu de hlqhu

Juù�h yrq ? � �S qdfk}xzhlvhq xqg Skrwrhohnwurqhqvshnwuhq }x phvvhq ^ODH<4`1 Glh

Hujheqlvvh ghu Ghwdfkphqw0Hqhujlhq lq Dekçqjljnhlw yrq ghu Foxvwhujuù�h }hljhq hlqhq

olqhduhq ]xvdpphqkdqj }xp Foxvwhuudglxv +-S ' -�r?
�*� plw -S ghp Foxvwhuudglxv/

-�r ghp Zljqhu0Vhlw}0Udglxv xqg ? ghu Dq}dko ghu Oljdqghq,1 Glh H{wudsrodwlrq

ghu Hujheqlvvh +? $ 4, hujlew lq uhfkw jxwhu ßehuhlqvwlppxqj ghq Vfkzhoohqzhuw ghu

Skrwrhplvvlrq dxv ghu Oùvxqj1
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Dxi wkhruhwlvfkhu Vhlwh xqwhuvxfkwhq U1Q1 Eduqhww hw do1 ^EOF;;` Hqhujhwln xqg

Vwuxnwxu ghu +K2R,3? 0 e}z1 +QK�,3? 0Foxvwhu1 Klhuehl }hljwh vlfk/ gd� vlfk gdv Hohnwurq

plw ghu Foxvwhujuù�h yrq H � ? � �S ehl +K2R,3? 0Foxvwhuq dxi ghu Foxvwhurehu çfkh

eh�qghw/ zçkuhqg hv vlfk ehl juù�huhq Foxvwhuq lp Lqqhuq ghv Foxvwhuv dxikçow1 Lp

Jhjhqvdw} gd}x wuhwhq ehl +QK�,3? 0Foxvwhuq jhexqghqh Rehu çfkhq}xvwçqgh qlfkw dxi1

Vlh huplwwhowhq hlqh vwdeloh Nrq�jxudwlrq ehl hlqhu Foxvwhujuù�h yrq ? ' �21 Ghu

Yhujohlfk h{shulphqwhoohu Hujheqlvvh yrq Kdehuodqg hw do1 ^KVZ;7/ KOV;7` }hljwhq/

gd� glh ßehuvfkx�hohnwurqhq ghu ghwhnwlhuwhq Foxvwhu lp Lqqhuq orndolvlhuw vlqg1

Hlqh zhlwhujhkhqgh wkhruhwlvfkh Prghoolhuxqj yrq +K2R,3? 0 xqg +QK�,3? 0Foxvwhuq

zxugh yrq S1 Vwdps l xqg N1K1 Ehqqhpdqq ^VE<7` gxufkjhiÿkuw1 Vlh ehuÿfnvlfk0

wljwhq glh Zhfkvhozlunxqj ghu Vroydwdwlrqvprohnÿoh xqwhuhlqdqghu/ zrplw vlfk glh

Skrwrhohnwurqhq0Vshnwuhq uhsurgx}lhuhq odvvhq1

51515 Xqwhuvxfkxqjhq dq lrqlvfkhq Foxvwhuq

Yhuvfklhghqh Iruvfkxqjvjuxsshq xqwhuvxfkhq lrqlvfkh Vroydw0Vroyhqw0Nrpsoh{h/ zrehl

dov Vroyhqwprohnÿo phlvw Zdvvhu rghu Dpprqldn yhuzhqghw zlug1 D1Z1 Fdvwohpdq hw

do1 ^FKO:;` hu}hxjwhq Qdn+QK�,?0Foxvwhu xqg ehvwlppwhq glh QK�0Elqgxqjvhqhujlhq

+vlhkh Dee1 515,1 P1E1 Nqlfnhoehlq xqgZ1M1F1 Phqh}hv ^NP<3` xqwhuvxfkwhq qhxwudoh

�e|@,,?+QK�,?0Foxvwhu1 W1 Nd|d hw do1 ^NNV<4` ehid�whq vlfk plw �e|@,,n+QK�,?0

Foxvwhu/ glh vlh lq hlqhu Deodwlrqvtxhooh hu}hxjwhq xqg dqdo|vlhuwhq glh Lqwhqvlwçwvyhu0

whloxqj ghu Pdvvhqvshnwuhq1 Iduudu hw do1 vwxglhuwhq ÿehu phkuhuh Mdkuh glh Skrwr0

glvvr}ldwlrq yrq Vun+K2R,?0 xqg Vun+QK�,?0Foxvwhuq ^VZI;:/ VI;</ GI<6`1 Glhvh

Nrpsoh{h/ hehqvr zlh glh yrq N1 Ixnh hw do1 ^PVN<7/ VPI<9` xqg yrq F1V1 \hk hw

do1 ^\ZU<5` xqwhuvxfkwhq Pjn+K2R,? xqg Fdn+K2R,?0Foxvwhu/ vlqg lp Yhujohlfk }x

Qd+QK�,?0Foxvwhuq lvrhohnwurqlvfk/ jhkùuhq mhgrfk dxijuxqg ghu Lrq0Glsro Zhfkvho0

zlunxqj }x hlqhp dqghuhq Elqgxqjvw|s1
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51516 Vroydwdwlrqvh�hnwh lq qhxwudohq Qd+K5R,q0 xqg Qd+QK6,q0

Foxvwhuq

5151614 Xqwhuvxfkxqjhq vshnwurvnrslvfkhu Hljhqvfkdiwhq yrq Qd+K2R,?0

xqg Qd+QK�,?0Foxvwhuq

Xqwhuvxfkxqjhq ghu Hljhqvfkdiwhq yrq Qdwulxp0Dpprqldn0 e}z1 Qdwulxp0Zdvvhu0

Foxvwhuq zhughq lq xqvhuhu Duehlwvjuxssh ehuhlwv vhlw hlqljhq Mdkuhq gxufkjhiÿkuw1

F1S1 Vfkxo} ^Vfk;:` ehredfkwhwh huvwpdov iuhlh Qd+K2R,?0Foxvwhu xqg ehvwlppwh ghuhq

Lrqlvdwlrqvsrwhqwldoh +LS,/ F1 Qlwvfk ^Qlw<6` nrqqwh glh LSv yrq Qd+QK�,?0Foxvwhuq

huplwwhoq1 Deelogxqj 514 }hljw glh Lrqlvdwlrqvsrwhqwldoh lq Dekçqjljnhlw ghu Foxvwhu0

juù�h/ dxijhwudjhq dov Ixqnwlrq yrq E?n��3�*�/ zrehl ? ghu Dq}dko ghu Vroydwprohnÿoh

hqwvsulfkw xqg vrplw qçkhuxqjvzhlvh ghp Foxvwhuudglxv sursruwlrqdo lvw1

Glh Lrqlvdwlrqvsrwhqwldoh vlqg elv }x hlqhu Foxvwhujuù�h yrq ? ' �. iÿu Qd+K2R,?0

Foxvwhuq xqg ? ' 2D iÿu Qd+QK�,?0Foxvwhuq huplwwhow1 Pdq hunhqqw hlq plw ghu Fox0

vwhujuù�h deqhkphqghv LS ehlghu Foxvwhuduwhq1 Glh Qd+K2R,?0Foxvwhu }hljhq ehuhlwv

ehl ghu Foxvwhujuù�h yrq ? ' e hlqhq Zhuw/ ghu ghp Exonzhuw yrq 6/5 hY ^ODH<4`

hqwvsulfkw1 Ehl Qd+QK�,?0Foxvwhuq vhqnw vlfk gdv Srwhqwldo hehqidoov vwdun plw ghu

Foxvwhujuù�h/ mhgrfk lvw lp Yhujohlfk }xp Vroyhqwprohnÿo K2R ehl ? ' e ghu Exonzhuw

yrq 4/78 hY ^Kçv73` qrfk qlfkw huuhlfkw1 Pdq hunhqqw dehu dxfk iÿu Qd+QK�,?0Foxvwhu

plw e � ? � S hlqhq Vroydwdwlrqv Vfkdohqdevfkox�1

Deelogxqj 514 }hljw }xghp hlqh Prghoouhfkqxqj +gxufkjh}rjhqh Olqlh, yrq L1Y1

Khuwho hw do1 ^KKQ<4` iÿu glh Hqwzlfnoxqj ghu Lrqlvdwlrqvsrwhqwldoh1 Glh Prghoouhfk0

qxqj xqwhuwhlow gdv Srwhqwldo ghv Qdwulxp0Ydohq}hohnwurqv lq xqwhuvfklhgolfkh Ehuhlfkh/

dekçqjlj yrp Nhuqdevwdqg1 Qdkh ghv Qdwulxp0Nhuqv zlug hlq yrq P1 D|pdu ^D|p<4`

hqwzlfnhowhv Srwhqwldo yhuzhqghw1 Lp Ehuhlfk ghu huvwhq Vroydwkÿooh zlug glhvhp Srwhq0

wldo hlq Ehlwudj ghu Devfklupxqj klq}xjhiÿjw +^ess?ess*o/ plw ^ess @ h�hnwlyh Odgxqj/

?ess @ Dq}dko ghu Prohnÿoh,1 Iÿu hlqhq Nhuqdevwdqg juù�hu dov glh huvwh Vroydwkÿo0

oh zlug hlq dejhvfklupwhv Frxorpesrwhqwldo dqjhqrpphq/ dx�hukdoe ghv Foxvwhuv hlq

uhlqhv Frxorpesrwhqwldo1

N1 Ixnh hw do1 ^PWV<5` ehvwlppwhq Lrqlvdwlrqvsrwhqwldoh yrq Fv+K2R,?0 xqg

Fv+QK�,?0Foxvwhuq1 Ghu Yhujohlfk plw Qd+K2R,?0 xqg Qd+QK�,?0Foxvwhuq hujlew ÿehu0
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Deelogxqj 514= Lrqlvdwlrqvsrwhqwldoh yrq Qd+QK�,?0 xqg Qd+K2R,?0Foxvwhuq lq De0

kçqjljnhlw ghu Foxvwhujuù�h vrzlh Odjh ghv f $ � ßehujdqjv yrq Qd+QK�,?0Foxvwhuq

^KKQ<4`/ ^EKV<;`1

hlqvwlpphqg/ gd� glh Zhfkvhozlunxqj ghv Qdwulxp0Ydohq}hohnwurqv plw ghu Vroydwkÿooh

jhjhqÿehu hlqhu Zhfkvhozlunxqj plw ghp Dwrpuxpsi grplqlhuw1

Vroydwdwlrqvh�hnwh vroowhq vlfk ghxwolfk lq ghu Odjh dqjhuhjwhu Qlyhdxv zlghuvslh0

jhoq +^Mru<5`,1 Jhudgh ghu ßehujdqj yrq nohlqhq Foxvwhuq/ ehl ghqhq gdv Hohnwurq

gluhnw plw ghp Qdwulxp0Dwrpuxpsi zhfkvhozlunw/ }x plwwohuhq Foxvwhuq/ ehl ghqhq

gdv Hohnwurq vlfk lq hlqhp u|gehujduwljhq ]xvwdqg dq ghu Rehu çfkh ghv Foxvwhuv eh0

�qghw/ vroowh lq ghu Vshnwurvnrslh nodu }x hunhqqhq vhlq1 Vr xqwhuvxfkwhq F1 Qlwvfk

^Qlw<6` xqg S1 Eurfnkdxv ^Eur<:` lp Udkphq lkuhu Grnwruduehlwhq hohnwurqlvfk dqjh0

uhjwh Qlyhdxv yrq Qd+QK�,?1 F1 Qlwvfk idqg ehl Qd+QK�, xqg Qd+QG�, plw Kloih ghu

U5F5L0Vshnwurvnrslh +yhujo1 Nds1 714, hlqh vwdunh Urw0Yhuvfklhexqj ghv f�� $ �2.

ßehujdqjv/ ghu dv|pswrwlvfk ghp �r $ �R ßehujdqj ghv Qdwulxp0Dwrpv hqwvsulfkw1

Iÿu glh Xqwhuvxfkxqj juù�huhu Foxvwhu px�wh S1 Eurfnkdxv dxijuxqg ghu nxu}hq Oh0

ehqvgdxhu glhvhu ]xvwçqgh dxi glh Whfkqln ghu Ghsohwlrqvvshnwurvnrslh +Nds1714, }x0

uÿfnjuhlihq1 Gdplw zdu hv lkp pùjolfk/ glh ßehujçqjh elv }x hlqhu Foxvwhujuù�h yrq

? ' 22 iÿu Qd+QK�,?0Foxvwhu xqg ? ' �f iÿu Qd+QG�,?0Foxvwhu }x xqwhuvxfkhq1

Deelogxqj 515 }hljw hlqh ]xvdpphqidvvxqj ghu vshnwurvnrslvfkhq Hujheqlvvh1 Glh
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Deelogxqj 515= Whupvfkhpd nohlqhu Qd+QK�,?0Foxvwhu/ Lrqlvdwlrqvsrwhqwldoh dxv

^Vfk;:`/ glh QK�0 Elqgxqjvhqhujlhq dxv ^FKO:;`/ dqjhuhjwh Qlyhdxv yrq Qd+QK�,

xqg Qd+QK�,2 dxv ^JKK<7`/ glh huvwhq dqjhuhjwhq Qlyhdxv vwdpphq dxv ^Eur<:`1
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Elqgxqjvhqhujlhq ghu Lrqhq zxughq gxufk D1Z1 Fdvwohpdq hw do1 ^FKO:;` huplwwhow1

Pdq hunhqqw hlqh vwdunh Deqdkph ghu Dquhjxqjvhqhujlh plw }xqhkphqghu Dq}dko

dqjhodjhuwhu Oljdqghq +vlhkh dxfk Dee1 514,1 M1 Juhhu hw do1 ^JKK<7` ehuhfkqhwhq

huvwpdov hlqglphqvlrqdoh Srwhqwldo çfkhq iÿu Qd+QK�, xqg Qd+QK�,2 xqg ehvwlppwhq

vr glh Odjh dqjhuhjwhu Qlyhdxv1 ]xghp zxughq Jhrphwulhq ghv Juxqg}xvwdqghv xqg

ghv lrqlvfkhq ]xvwdqgv huplwwhow1 N1 Kdvklprwr hw do1 ^KKP<6/ KP<7` ehuhfkqhwhq

Johlfkjhzlfkwvjhrphwulhq iÿu ghq Juxqg}xvwdqg yrq Qd+QK�,?0Foxvwhuq elv }x hlqhu

Foxvwhujuù�h yrq ? � S1 Glhvh Uhfkqxqjhq }hljhq/ gd� ehl Qd+QK�,� gdv Qdwulxp qrfk

dxi ghu Rehu çfkh ghv Foxvwhuv vlw}w/ ehl Qd+QK�,e gdjhjhq vlfk glh QK�0Prohnÿoh wh0

wudhghuiùuplj xp gdv Qdwulxp0Dwrp dqrugqhq1 Ehl ghu Foxvwhujuù�h yrq ? ' D zlug

gdv }xvçw}olfkh QK� gluhnw dp Qdwulxp jhexqghq/ huvw ehl ? ' S ehjlqqw hlqh qhxh

Vfkdoh1 V1 Vfkxo} ^Vfk<;` huzhlwhuwh glh Uhfkqxqjhq xqg ehvwlppwh Johlfkjhzlfkwvjhr0

phwulhq xqg Vfkzlqjxqjviuhtxhq}hq iÿu Juxqg0 xqg glh huvwhq 6 dqjhuhjwhq ]xvwçqgh

elv }x hlqhu Foxvwhujuù�h yrq ? � �1 Deelogxqj 516 }hljw glh Devruswlrqvvshnwuhq yrq

Qd+QK�,?0 xqg Qd+QG�,?0Foxvwhuq1 R�hqvlfkwolfk lvw ghu Xqwhuvfklhg ghu Vshnwuhq

}zlvfkhq Qd+QK�, xqg Qd+QK�,?0Foxvwhuq plw ? � 21 Zçkuhqg Qd+QK�, hlq Vshn0

wuxp plw vfkduihq Olqlhq plw hunhqqeduhq xqg ehvwlppeduhq Yleudwlrqvprghq ^VQ<:`

}hljw/ vlqg glh Devruswlrqvvshnwuhq ghu juù�huhq Foxvwhu hqhujhwlvfk euhlw xqg xqvwuxn0

wxulhuw1 ]xghp vlhkw pdq/ zlh vlfk gdv Dquhjxqjvvshnwuxp plw ghu Juù�h ghv Foxvwhuv

}x qlhguljhuhq Hqhujlhq yrq 47333 fp3� qdfk 9333 fp3� yhuvfklhew1 Ehl Foxvwhuq plw

hlqhu Foxvwhujuù�h yrq ? � e hunhqqw pdq mhgrfk ndxp qrfk hlqh Yhuvfklhexqj1

Iÿu glh Qd+QK�,?0Foxvwhu plw ? � � }hljw vlfk }xvçw}olfk hlqh ßehukùkxqj ghu

Devruswlrq ehl 9933 fp3� +4853 qp,1 Glhvh ßehukùkxqj zlug hlqhu Yleudwlrqvdq0

uhjxqj ghu Dpprqldn0Prohnÿoh }xjhrugqhw1 QK� ehvlw}w lp Ehuhlfk }zlvfkhq 98<8

fp3� xqg 9957 fp3� ehndqqwh Vfkzlqjxqjvprghq +5D�/ 5D�/ D� n D�,4 ^Khu89`1 Lq

ghq Ghsohwlrqvvshnwuhq huvfkhlqw glhvh Devruswlrq mhgrfk qxu lq Yhuelqgxqj plw ghp

hohnwurqlvfkhq Qlyhdx ghv Nrpsoh{hv ^EKV<;`1 Glhv ehghxwhw hlqh vwdunh Nrssoxqj

}zlvfkhq hohnwurqlvfkhu xqg yleurqlvfkhu Dquhjxqj ghv Foxvwhuv1

Glh Devruswlrqvvshnwuhq ghu juù�huhq ghxwhulhuwhq Foxvwhu +? � D, vlqg vwdun

jhjhqÿehu ghq qlfkwghxwhulhuwhq yhuvfkrehq1 Plw hlqhu Foxvwhujuù�h yrq ? � S hunhqqw

pdq hlqh Devruswlrqvedqgh/ glh dxv 5 Pd{lpd ehvwhkw/ ghuhq odqjzhooljhv Pd{lpxp

ghu +5D�/ 5D�/ D� n D�,0QG� Prgh ehl fd1 7<33 fp3� +5373 qp, hqwvsulfkw1

4
�4 v|pphwulvfkh Q�K6 Vwuhfnvfkzlqjxqj/ �6 dv|pphwulvfkh Q�K6 Vwuhfnvfkzlqjxqj
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Deelogxqj 516= Devruswlrqvvshnwuhq yrq Qd+QK�,? xqg Qd+QG�,?0Foxvwhuq +� � ? �

S,/ Gdwhq hqwqrpphq dxv ^Qlw<6` xqg ^Eur<:`1
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5151615 Xqwhuvxfkxqj }xu G|qdpln dqjhuhjwhu ]xvwçqgh yrq Qd+K2R,?0

Foxvwhuq/ Qd+QK�, xqg Qd+QK�,2

Hehqvr zlh lq ghq vshnwurvnrslvfkhq Hljhqvfkdiwhq ghu Foxvwhu/ lvw dxfk lq ghu G|qd0

pln dqjhuhjwhu Qlyhdxv hlq gudvwlvfkhu H�hnw ehlp ßehujdqj yrq hlqhp dp Qdwulxp

jhexqghqhq Hohnwurq/ klq }x hlqhp dq ghu Foxvwhurehu çfkh jhexqghqhq Hohnwurq }x

huzduwhq1 Gxufk Sxps0Sureh H{shulphqwh lp iv0]hlwehuhlfk vroowh hv pùjolfk vhlq/

glh Hqhujlhxpyhuwhloxqj lq Hfkw}hlw }x ehredfkwhq1 Dxfk ghu Yhujohlfk }zlvfkhq QK�

xqg K2R dov Vroyhqwprohnÿo yhuvsulfkw/ Lqirupdwlrqhq ÿehu ghq Elqgxqjvfkdudnwhu }x

olhihuq1

Huvwh Xqwhuvxfkxqjhq dq Qd+K2R,?0Foxvwhuq zxughq yrq D1 Khwh| xqg F1S1

Vfkxo} ^Khw<:` gxufkjhiÿkuw1 Deelogxqj 517 }hljw glh Sxps0Sureh Vljqdoh elv }x hlqhu

Foxvwhujuù�h yrq ? ' e1 Ehl glhvhu Phvvxqj ehwuçjw glh Dquhjxqjvzhoohqoçqjh b��6R

@ ;53 qp +45533 fp3�,/ glh Lrqlvdwlrqvzhoohqoçqjh b�h JKe @ 743 qp +57733 fp3�,1

Pdq hunhqqw hlqh udvfk plw ghu Foxvwhujuù�h deqhkphqgh Ohehqvgdxhu1 Ehl glhvhq

Phvvxqjhq zlug/ zlh lp Idoo yrq Qd+QK�,?0Foxvwhuq/ yrq hlqhu Dquhjxqj lq ghq hu0

vwhq dqjhuhjwhq ]xvwdqg dxvjhjdqjhq1 Vshnwurvnrslvfkh Gdwhq/ dejhvhkhq ghu LSv/

ihkohq mhgrfk elvodqj1

M1 Kùkqgrui ^VKE<8/ Kùk<9` xqwhuvxfkwh Qd+QK�, xqg Qd+QK�,2 e}z1 Qd+QG�,

xqg Qd+QG�,2 lq Hlq0 xqg ]zhliduehq Sxps0Sureh H{shulphqwhq lq hlqhp Zhoohq0

oçqjhqehuhlfk yrq b��6R @ :;3 0 ;73 qp +44<33 0 45;53 fp3�, xqg b�h JKe @ 6<3 0 753

qp +56;33 0 58973 fp3�,1

Deelogxqj 518 }hljw glh Hujheqlvvh ehl hlqhu Dquhjxqjvzhoohqoçqjh yrq b��6R @

;4; qp +45557 fp3�,1 Glhvh Dquhjxqjvzhoohqoçqjh hqwvsulfkw ghu ehqùwljwhq Hqhujlh

iÿu hlqhq uhvrqdqwhq f $ � ßehujdqj ehl Qd+QK�,1 Glh Lrqlvdwlrqvzhoohqoçqjh eh0

wuçjw b�h JKe @ 747 qp +5777; fp3�,1 Dxijhwudjhq lvw gdv Lrqhqvljqdo lq Dekçqjljnhlw

ghu }hlwolfkhq Yhu}ùjhuxqj }zlvfkhq Sxps0 xqg Surehsxov1

Pdq hunhqqw dxfk ehl glhvhq Foxvwhuq/ gd� vlfk glh Ohehqvgdxhu plw ghu Foxvwhu0

juù�h gudvwlvfk çqghuw/ glh Qd+QK�,?0Foxvwhu huzhlvhq vlfk mhgrfk ehghxwhqg vwdelohu

+� Idnwru 9, dov glh Qd+K2R,?0Foxvwhu/ zrehl hlq gluhnwhu Yhujohlfk zhjhq ihkohqghu

vshnwurvnrslvfkhu Gdwhq qlfkw pùjolfk lvw1
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Deelogxqj 517= Sxps0Sureh Lrqhqvljqdo yrq Qd+K2R,?0Foxvwhuq plw hlqhu Dquhjxqjv0

hqhujlh yrq b��6R@ ;53 qp +45533 fp3�, xqg hlqhu Lrqlvdwlrqvzhoohqoçqjh yrq b�h JKe@

743 qp +57733 fp3�, ^Khw<:`1

Iÿu Qd+QK�, huplwwhow pdq hlqh Ohehqvgdxhu lp Qdqrvhnxqghq0Ehuhlfk/ zçkuhqg

Qd+QK�,2 qxu hlqh Ohehqvgdxhu yrq fd1 63 sv dxizhlvw1 Gdv Qdn0Vljqdo }hljw hlqhq

lqyhuvhq Vljqdoyhuodxi1 Wuh�hq Sxps0 xqg Surehvwudko }hlwolfk dxihlqdqghu/ vr lvw gdv

Qdn0Vljqdo plqlpdo/ glh Lrqhqdxvehxwh vwhljw plw }xqhkphqghu Yhu}ùjhuxqj }zlvfkhq

Sxps0 xqg Surehvwudko plw hlqhu ]hlwnrqvwdqwh yrq :3 sv dq1 Dxijuxqg yrq Hlq0

iduehq Sxps0Sureh H{shulphqwhq plw Yduldwlrq ghu Dquhjxqjvzhoohqoçqjh oç�w vlfk

glhvhv Qdn0Vljqdo hlqhp Iudjphqwdwlrqvsur}h� hlqhv krfk dqjhuhjwhq Qd+QK�, +pùjol0

fkhuzhlvh C0]xvwdqg, }xvfkuhlehq1 Gdv Qd+QK�,-- iudjphqwlhuw lq ghq �R ]xvwdqg ghv

Qdwulxpv xqg zlug gxufk ghq Surehsxov lrqlvlhuw +vlhkh gd}x Nds1 :,1 Glh Pùjolfknhlw

ghu Srsxodwlrq ghv krfk dqjhuhjwhq C2.0]xvwdqghv zlug dxfk gxufk Uhfkqxqjhq yrq

U1 gh Ylylh0Ulhgoh xqg V1 Vfkxo} xqwhuvwÿw}w ^YVK<:/ Vfk<;`1

Ghxwhulhuxqj ghu Foxvwhu iÿkuw }x hlqhu h{wuhphq Yhuoçqjhuxqj ghu Ohehqvgdxhuq

+��@E�M��2*��@E�(��2 � �*Hf,1 Dxfk gdv Qdn0Vljqdo/ zhofkhv/ zlh rehq huzçkqw/ hlq

Iudjphqwsurgxnw lvw/ }hljw hlqh Yhuoçqjhuxqj ghu Dqvwlhjv}hlw1 ]xu Hunoçuxqj ghv

h{wuhphq Lvrwrshqh�hnwv zxugh glh Lqyhuvlrqvvfkzlqjxqj ghv Dpprqldn0Prohnÿov dov

Iudjphqwdwlrqvjuxqg lq ^VKE<8` xqg ^Kùk<9` idyrulvlhuw1 Glh Lqyhuvlrqvvfkzlqjxqj lvw
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Deelogxqj 518= Sxps0Sureh H{shulphqwh dq Qd+QK�, xqg Qd+QK�,2/ e}z1 Qd+QG�,

xqg Qd+QG�,2 plw hlqhu Dquhjxqjvzhoohqoçqjh yrq bR�6R @ ;4; qp/ bRoJKe @ 73< qp

^Kùk<9`1

hlq Wxqqhoh�hnw xqg hqwvsuhfkhqg vwdun yrq ghu Pdvvh/ lq glhvhp Idoo yrq ghu Dq}dko

ghu (v/ dekçqjlj1 Qdfk ghu Dquhjxqj nrppw hv plw hlqhu jhzlvvhq ]hlwnrqvwdqwh }xu

Lqyhuvlrq ghv Dpprqldnv xqg ghu Qd+Dpprqldn,0Nrpsoh{ iudjphqwlhuw1

Glh yrq V1 Vfkxo} ehuhfkqhwhq phkuglphqvlrqdohq Srwhqwldo çfkhq eh}ÿjolfk ghv

�0]xvwdqghv yrq Qd+QK�, hujdehq mhgrfk nhlqhq Dxivfkox� }x hlqhu Hunoçuxqj ghv

Sxps0Sureh Vljqdov e}z1 ghu Deqdkph ghv Lrqhqvljqdov plw }xqhkphqghu Yhu}ùjh0

uxqj }zlvfkhq Sxps0 xqg Surehsxov/ hlq iudjphqwlhuhqghu Ndqdo zxugh qlfkw jhixq0

ghq1

Glh Phvvxqjhq }xu Dekçqjljnhlw ghv Lrqhqvljqdov yrq ghu Dquhjxqjvzhoohqoçqjh

}zlvfkhq :;3 qp xqg ;73 qp +44<33 0 45;53 fp3�, }hljwhq nhlqhq Wuhqg1
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R�hqh Iudjhq

Dxv ghu Iÿooh qrfk r�hqhu Sureohph }xu G|qdpln ghv Vroydwdwlrqvsur}hvvhv/ vroowh

vlfk glhvh Duehlw dxi irojhqgh Iudjhq }xu G|qdpln dqjhuhjwhu Qd+Dpprqldn,?0Foxvwhu

nrq}hqwulhuhq=

� Zrulq lvw glh Deqdkph ghv Lrqhqvljqdov ehl srvlwlyhq Yhu}ùjhuxqjv}hlwhq ehjuÿq0

ghwB

� Zlh hqwzlfnhow vlfk glh Ohehqvgdxhu ghu Foxvwhu lq Dekçqjljnhlw yrq ghu Juù�h/

vhw}w vlfk glh Whqghq}/ glh vlfk yrq Qd+Dpprqldn,� qdfk Qd+Dpprqldn,2 }hljw/

iÿu juù�huh Foxvwhu zhlwhu iruwB

� Hunhqqw pdq/ zlh dq ghu hqhujhwlvfkhq Odjh ghu �0]xvwçqgh/ dqkdqg ghu Oh0

ehqvgdxhu ehl hlqhu Foxvwhujuù�h yrq ? ' e hlqhq Vroydwdwlrqvvfkdohqdevfkox�B

� ]hljhq glh Ohehqvgdxhuq/ çkqolfk zlh ehl ghq Devruswlrqvvshnwuhq ehl ghq Fox0

vwhuq plw ? � �c hlqh vwdunh Nrssoxqj }zlvfkhq hohnwurqlvfkhu xqg yleurqlvfkhu

DquhjxqjB

� Vhw}w vlfk ghu vwdunh Lvrwrshqh�hnw dxfk iÿu juù�huh Foxvwhu zhlwhu iruwB
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